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HEEENWRE) W= 225 kg RILEDSED LGA= 367 mm
EA =T hG= 500 mm FTOEH LGB= 200 mm
RILER IR LA= 908 mm RILE A X M10
LB= 475 mm NIV AR S n= 4K
BRI )L AR £ nt = 2 K
RERET AT E., RIS HTIEHERE
SRETRIEERE KS 1.0 15 2.0
Hhigi R Z 1.0 10 10
RETRKEEE KH=KS x Z 1.0 15 2.0
SRETRKEME A FH=KHXW 0.22 kN 0.33 kN 0.44 kN
SRETHRSEE D FV=FH/2 0.11 kN 0.17 kN 0.22 kN
Foh—RILESIIRA R ILRR 7S ARIRDA)
0.16 kN 0.21 kN 0.25 kN
Rb— FH X hG+W X 9.8+FV) X (L-LG)
L X nt “RILE R/ BEI(RLB)
0.21 kN 0.29 kN 0.36 kN
% L:LAXIXLB. LG:LGAZ=IXLGB
TFoh—RILNEAIEHE
FH A:7RILNERETE 010  kN/cm?| 015  kN/cm?| 020 KkN/cm?
T A M10 0.55cm?
BT Uh—RILLOERHBRSIRTEICIHNT 2REE
I M —R 5 i
HlIEREIET N Jr/w(i‘aéa_l,i) 170 & 133 & 106 &
EHIF AR E 3.8 kN
T R7UN—R
BEETEERT N —HIE e 35.9 = 26.6 = 21.1 =
EHIEF AR E: 7.6 kN
BT UH—RILEDERHBEARSHEICHT2REE
ARILE(SS400
IR ) i , 100.8 = 67.2 = 50.4 =
HEEAEAMIGAE:10.1 kN/cm
2T L AARILE (A2-50
THLRIRILH ) ) | oe0 60.7 | 455 &
HEFREAMSAE:9.12 kN/cm
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